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Which of the following is therichemjcal nature of [
_enzymes ?

The Muppandal-Perungudi area of Tamil Nadu is

known for : :
(a) Hydro power (b) Wind power
(c) Atomic power (d olar power

The correct order of mountain ranges from South to

(c) Zaskar, er Panjal, Ladak!{ Karakoram
(d) Karakoram, Zaskar, Pir P;a;xijal, Ladakh

In which state of India are the largest monazite
deposits found ?

() Kamataka (b) Odisha
0 v [T

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Deccan ua;fj’s'?deﬁcient in ground
water. L7

Reason (R) : Deccan trap has mbre than 1000 metre
thick impenetrable basalt mck cover

Select the correct answer from thehcodes given below :
(a) (A)is true, but (R) is falsel™

() (A)is false, but (R) is true.

(c) Both (A) and (R) are true and (R) is the correct

(d) Both (A) and (R) are true, but (R) is not the
correct explanation of (A). N

Which of the following protozoa is known as the

“Grand old man of Intestine” 2~

(a) Diffusia (b) ‘Radiolaria l"'
id3

(d) Arcella

(b) Vitamin

(c) Lipid (d) Carbohydrate

Which of the following coal producing area is no#
located in Chhattisgarh ?

@ i
(c) Sonhat (d) Chirimiri

_ AROM-01
mﬁwmmmmmh

(c) A (d

Frerfan i sfeeeit 31 o & 3w A she

(c) &R, it USTTe, SIERE, T
(d) PR, TEH, TR GITel, e

W & -8 5T Sferekan dAmee % Faw o

S g ?
(a) TAlH (b) SAfssm

A3 3 o g e &, ot & o Y oo Ay wer

A I HR (R) FET 1L |
FAHUT (A) : T 20 YT oI woen F =T R |

WRUT (R) : T 20 & ST 1000 HieT & 1feres At
SIS ST TEHT I WA € |

ﬁ@“féﬁ'ﬂ'ﬁaﬁ?ﬁﬁﬁ:
@ AT FgER E

(b) (A)Tea e, g (R) F R

© (A)W(R)?Iﬁﬂﬁ%aﬂT(R),(A)ﬁw

@ (A)W(R)a’m“raﬁ,%(k), (A) ¥t T

T g Fare |

frafafed & & S Mesien < = afy 35

A FHET TR ?
a ISR (b) feamfar
(c) FornfSan (d) mEem

e § & et e Bt TerP SR S
2?7

| () TH |
() fam

(b) Fafm
(d) FIETSTSSE (IET)

Fefafes § @ SH-a1 FEeT Iq9ET & S9aTe &

|

T T Y S T Y A T TR N TS AT

zeileoth Al I Wz Lal's,




10.

11.

12.

13.

Who invited Mahatma Gandhi
regarding the Indigo cultivation ?

[@ Rajkumar Shukia_|
(b) Motilal Nehru
(c) J.B.Kripalani
(d) Rajendra Prasad

Which King’s title was ‘The man with burnt legs’ ?
(a) Nedul Jeral (b) Duttagamani

'(c) Karikalan i' (d) Nalangiri

to Champaran

Match List-I with List-II and chooée the correct

answer from the codes given below the lists :
List-I List-IT
i (Inscription) .. Ryler) .
A Hathigumpha Inscription . 1. Khayavels
' B. Mandsaur Inscription 2. Puluvami

C. Aihole Inscription 3. Pulakeshin IT
D. Nasik Cave Inscription 4. Yashodharman
Codes : ’

Article 17 of the Indian Constitution is related to :
(a) Equality before Law ’

(b) Freedom of Press %ﬁ
(c) End of Titles ’

d) Abolition of Uﬁtoucabi]i

Which one of the following is correctly matched ?
(Painter) LRM_Ier;)_

(a) Fakirulllh — Shahjahalll

(b) Basawan - Aurangzekl)'

(c) Manohar - Akbar

(d) Daswant - Jahangir

Khond Movement (1846 — 55) was triggered due to
the British Government’s forceful abolition of which
traditional practice of tribes ?

(a) Animal Sacrifice (b) Infant Sacrifice

(c) Human Sacrifice j (d) None of the above

10.

11.

12.

13,
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In which Articles of the Constitution of India have
the provisions related to the electoral process of the
country been made ? -

(a) Articles 334 to 339

(b) Articles 329 to 344

(c) Articles 324 to 329

15.

16.

17.

18.

(d) Articles 333 to 334

In which year did the Tndian industrialist Ratan Tata,
who expired in the year 2024, receive the “Padma
Vibhushan Award” ?

(a) 2012 (b) 2014

What is the minimum educational qualification for
“Uttar Pradesh Mukhyamantri Yuva Udyami Vikas
Abhiyan Yojana” launched in 2024 ?

(a) Class 10 (b)) Class 12%

(c) Class5h +](d) _Class 8"

Which country honouféd the Prime Minister of India
with “The Order of Excellence” in 2024 ?
» (b) Egypt

(d) France

(a) Russia

The Indian government had launched a rescue
operation in Ukraine to evacuate its stranded citizens.
This operation was known as :
(a) Operation Kaveri

(b) Operation Bucharest

(c) Operation Devi Shakti

(d) Operation Ganga

19. Which of the followirigf 1s not correctly matched ?
(a) Article 156 —. Term of the Governor
(b) Article 154 - Exmuﬁve authority of the
or
¢) Article 155 — Removal of the Governor
(d) Article 153 — Office of the Governor )
20. Who among the following had the longest tenure as

the Chief Justice of Supreme Court of independent
India ?

(a) Ranganath Mishra

(b) K.G. Balakrishnan

(c) Sabyasachi Mukherjee

[@Y.V. Chandrachud

14.

15.

16.
17.

18.

19.
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21. Which of the following acids can melt gold ? 21, Fefaed 3§ & S e O S e g s 2
(@ Hydrochlonc Acid : () TEESmERe URE
| _® w&ﬁﬁs

@ Sulphuric Acid

22. Matoh ListT with ListIl and choose the corrct|zy, @Iﬁ@_nﬁaﬁaeﬁ&qgﬁ;tﬂ%ﬁ%ﬁﬁq

answer from the codes given below the lists : Imﬁzﬂmaﬁwgﬁq

List-I | List-IT gEit-1 E‘f gei-11

(Macromolecule) (Examples) (F&&Y 1 - (S|TIE)
A. DNA , 1. Energy Storage A dmg v 1. i wgwer
B. Phospholipid 2. Cell Membranes B. % S, 2. it el
C. Cellulose 3. Encode genes C. g 3. S Gl
D 4. -Cell Walls D. =& 4, iR RiRy

A

. (d 4 ﬁr‘}, 1 2
23. Given i)elow are two statements, one is labelled as 3. ﬁ%ﬁmﬁﬁiﬁﬁ;% ﬁqﬁ%@ﬁaﬁmﬂmw

Assertion (A) and the other as Reason (R). @ﬁméﬁmw%l ‘

Mn (A) ¢ Earth is the only planet known to 8 (Axﬁqeaﬁwng%ﬁaﬁﬁaﬁl
Reason (R) : Barth has an atmosphere which is a SR (R) g'm T AR ¥ S Bﬂﬂﬂ'ﬁ?
mixture of oxygen, nitrogen and carbon dioxide. W@meﬁw% |

Select the corréct answer from the codes given below : aﬁ%ﬁqnqaﬁ%ae“rsm

(@ (A)is true, but (R) is false. @  (A)T@E ﬁﬁra{)m%l

() (A)is false, but (R) is true. (®) (A)TEE, ﬁvﬁ(R)H%?%l

(c) Botll;gﬁt) and (R) are true and (R) is the correct () (A) @ (R) SHI & % 3R (R), (A) Eﬁ e

B () and () o e, but R is ot the
col‘l'ect explanat:{m Of (A)

24, Onchls ‘World Heart Day’ celebrated every S SN :
year ? 2. “ﬁﬂwﬁmﬁﬂﬁﬁa@mﬁﬁm‘rmm%v

(2 29 September (@ 29 m
(c) 26m September | 8™ September | (©) 26 ﬁmﬁ{ - ——
25, The first Bullet train in India, WhJchlstorlmbetween 25. waﬁmseﬁﬁzéw‘ramm—mﬁ%wm

Ahmedabad and Mumbai is being prepared with the %ﬁnﬁr@aﬁ%ﬁmqwa%{wﬁrm%%maﬁm
of Which one of the following countries ? @% ?

(b) Umted States of America
(c) France
(d) England

ST
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26. TIT IR A :
(@) T
(¢ "E
27. a‘mﬁuﬁﬁﬁi@r%:
2. Pooofan 4 s s e 22
(2) G e g AT R |
(b) wwmmmﬁa?@
29,
30,
31
@) THRITRE? ’3‘?
32, ﬁﬂmﬁﬁﬁr@%wa@mmﬁ%mm
ISR i
33, . ¢
34,
35,
36,
37.

38,
39, awr
40.

41.

42,

43.

45.

AROM-01




- 51 Ethanol can be blended with which of the following | 51.

(b) Edible oils
(d) Biodiesel

52.  Which gas is used as fire extinguisher ? ' 52,
() Nitrogen
(b) Methane

Oxygen o

53. = As per the Disaster Management Act, 2005, the 53,

National Disaster Management Authority (NDMA) is
Jeadedbythe____.__

(¢) Home Minister
(d) Environment Minister

54. The point of the Earth’s surface directly above the

AROM-01
ST sqzﬁn % fore wHter = Prefifa & & B
g ffa e e g 2
(b) BRI
(d) s
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© wE
(d) iEwor

.

54, Mﬁmmwﬁa%mwwwm%

point where an earthquake occurs is called : A L5 o : ;
(a) Fracture @ % 5-3 R0
(c) Focus () ‘IR

55. Glacial Lake Outburst Flood (GLOF) belongs to
which family of natural hazards ?
(a) Geophysical (b) Hydrological
(c) Meteorological

56. Tsunami warning cenre in Incha is located at:

() Abmedsbad () Mumbai

(c) Kolkata
s i f°u°wmg i geologlcal disaster ?

R (b) Wildfire
L (d) Storm surge

$8.  Which energy is developed by gravitational pull of
the Sun and the Moon on the Earth ?
(a) Thermal energy
~ (¢) Solar energy

D Wind.cner energy

59, The horsepdwer per ton of refrigeration is expressed
as: '

55 R o ﬁ:‘iﬁm %

éﬁmm&’&%g)mﬁmmﬁ%ﬁmaﬁ%w&m

wﬁaﬁ%mw%

Ccop




Bl

I

60. In fluid energy mill, most of the reduction is caused
by : ‘
(a) Impact
(b) Cutting

c) Interparticle atlon

(d) Compression §

oy
Wosmsd

61.  Consider the following statements::

i e .
I.  Sedimentation is conductq_ﬁ 2011 a large scale in
thickeners. £y
II.  Sorting classification sepér"a‘\i:es the particles of
differing densities.

Select the correct answer from the following :
(b) Neither I nor IT is true.
(¢) OnlyIis true.
(d) Only II is true.
: | L7

62. The pitch of a standard screw c%x_feyor is equal to its
(a) Perimeter .
(b) Halfofthe perimeter .

¢) Radius

I(d) Diameter

63. Match List-I (Name of Disease) with List-IT
(Causative Agent) and choose the correct answer
from the codes given below the lists :

s
)

B

List-I List-Il
(Name of Disease) ' f:fi(Causative Agent)
A. Blue baby syndrome I, 7+Chromates
B. Itai-ltai disease 2. Hg
C. Minamata disease 3‘”er
D. Lung cancer 4 | -i\ﬁtrate
Codes :

60.

61.

62.
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65.

67.

68.

69.

70.

(d) low carbon steel

b) Young’s Modulus

()
Which of the following is mot a property of 70

The curing of concrete is the process of : 64.

(a) Plastering the concrete surface
(b) Applying d:stemper paint on its surface

Filling the materials in the left out depressions
to make its surface smooth

(@

Which of the following metals has the lowest|¢s

temperature coefficient of resistance ?

(c) Copper (d) Aluminium

Mild steel belongs to the category of :
(a) medium carbon steel

(b) high carbon steel

(c) no carbon steel

Which of these is not a function of alloy steels ?
. (a) Increases strength

(b) Reduces cost

(c) Improves ductility

(d) Improves machinability

The constant of proportionality between elongation

and axial force given by Hooke’s Law is . 68.

(a) Yield point

(c) Ultimate strength
(d) Elastic limit

-

The front view, side view and top view of a cylinder

standing on horizontal plane based on horizontal | gg_

plane is :
(a) rectangle, circle and rectangle
(b) circle, triangle and triangle

circle, rectangle and rectangle

rctangle, rectangle and circle

engineering materials ?

(a) Polymorphlsm propemes _

(b) Electrical properties

(¢) Mechanical properties
(d) Chemical properties

66.

67.
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72.

73.

© 74,

75.

76.

77.

Yield of a reservoir represents :
(a) The outflow demand on the reservoir
(b) The inflow into the seservoir
(c) The capacity of the;i‘*eservoxr
(d) None of the above
l e

A level crossing type of cross drainage work consists
of : LM

(a) one weir and two regulators

(b) two weirs and two regulators

(c)
(d) two weirs only

one regulator only

The amount of energy carried by a photon is
inversely proportional t?

(a) Amplitude “3(b) Albedo

(c) Speed i (d) Wavelegth ;

A dummy activity is ;u_:sed in ‘PERT’ network to
describe : { '
(a) Resource restriction B

(b) Resource idleness

(c) Precedence relationship

(d) Necessary time delay

The term “triple constraint” in project management
traditionally consists of - of the project.

(a) time, cost and sco . €

(b) quality, risk and réé‘_burces
(c) cost, scope and quaHhty
(d) risk, resources and time
The ratio of rainfall in a particular year to the average
annual rainfall (AAR) iscalledthe __
(a) Index of average rainfall

(b) Index of yearly rainfall

(c) Index of wetness |

(d) Index of d ought

Unit of duty of crop is :
(a) m/ha
(c) cm/sec

i (b) ape cumec i

71.

72.

73.

74.

75.

76.
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As per CPCB guidelines, for the AQI range of
201 — 300, the air quality will be :

78.

) sos
(c) Excellgnt (d) Good

79.  Phenology is the study of the relationship between

climate and periodic
a) Spatial phenomenon

b) Biological phenomenon

(c) Physical phenomenon

(d) Chemical phenomenon

What is the effect of the greenhouse gases on the
Earth’s atmosphere ?

(@) They block all solar radiation.
(b) They increase oxygen levels.
(¢) They cool down the Earth.

81. The National Action Plan on Climate Change
was launched by the Government of India in 2008
with a target to increase forest area from presently
23% to
(a) 40% (b) 45%

82. Which type of battery is commonly used in modern

electric vehicles due to its high energy density and
efficiency ?

Lead acid

(¢) Alkaline
(d) Microbial fuel cell

83. The capacity of the handling/conveying equipment
should the capacity of processing unit or

(a) Be lower than
(b) Be different from

(d) Be higher than

84. Which of the following is not a type of belt conveyor ?

@

(c) Flat (d) Metallic

Telescopic

78.

79.

80.

81.

82.

83.
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85. The Sun subtends an angle of minutes on | 85, - qjg%ﬁ EARGER Y e s RS §
the Earth surface. (a) 42 (b) 52
(a) 42 b) 32 © 22 (@) 32 |
() 22 @ 32 § .
' . STAETE S i R yer A aiEdT afEer R 2
86. Gasification of biomass is which type of conversion 86 5 L i == = &
process ? i { 3 (a) SIEED
(9) Biologicl  [)  Thermochemical| (c) TR

(¢) Chemical : ;(gl) Blochenncal
=i : 87.

87.. The followmg type of energy is stored as latent heat :
omizms R o
(b) Electrical Energy _ () TEmRE o

(¢) Chemical Energy @ xifE Tt

(d) Mechanical Energy :
88. The longest day and longest night dates are 8. TRIw AT LR 3
respectively : () 215217
(8) 21 June; 21% March () 21 Raw; 21 feww -
(b) 215 September; 213*5])ecember () 21 ' 21 ,_
(c) 215 September; 215*March (d) 213; 21 fewe |
‘(d) 215tJune,215tDeceﬂ13 \ber l R S E
: 89, §d ¥ Sl Seare o o F-elt wfmar Swaw R 2
89. Which process is responslble for the production of (a) SETENT T SRR
energy in the Sun ? h '

'ﬁ:r : ma;wﬁﬁui%aiﬁa"r%:

(2) Exothermal chemical reaction

(b) Nuclear fission reaction - Sl =S E ﬁﬁ ===
[©)_ Nuclear fusion reacton} ] o s iasi
(d) None of the above 00, 3h 3

90. A barometer measures : \d) ol L -
(b) Differential press@j;éfj (c) ST
(c) Gauge pressure (d) U U A HIg T

(d) None of the above
91. mﬁﬁqaﬁm@qaﬁsﬁa e ¥
91. The main combustible ci;fﬁponent of biogas is : - fF fo |l (b) e SEHEEES
L= > | (b) Carbon dioxide (c) = - @ gél:[
(c) Butane (d) Ethane

- L _ 92, N fAfeRoT YaTE SRt ST R SHERT ST & =T S
92.  Solar radiation flux is usually measured with the help 3.

(c) Sunshine recorder (© Hj ELERICIEN
(d) None of the above (d) Wﬁﬁﬁqﬁ




93.

9.

95.

96.

97.

98.

(d) Involute

If a plane is inclined to both the reference planes,
then the plane is called :

(a) perpendicular plane
(b) cross plane

(c) auxiliary plane

(d) oblique plane

The curve traced out by the end of a piece of thread
unwound from a circle or a polygon, the thread being
kept tight, is termed as

(a) Archimedean Spiral
(b) Logarithmic Spiral

(c) Evolute E3

£

The difference between the 1 primary scale division
of the vernier and the 1 (one) vernier scale division is
termed as

(a) Error quotient of the vernier scale
(b) Correction factor of the vernier scale
scal

(d) Zero point on the vernier scale

Least count of verni

In third angle projection, the object is kept in :
Na) 3™ quadrant

(b) 4™ quadrant

(c) 1% quadrant

(d) 2™ quadrant

What is the purpose of a sectional view in
engineering drawing ?

(€]
()
(c)

To represent an object in a simplified form.
To provide a perspective view of an object.

To display the external features of an object.

" To show the internal details of an object by
cutting through it.

When the axis of solid is perpendicular to V.P., the
view should be drawn first and
view then projected from it.

(a) (b)
(c) front, top (@)

side, front top, front

top, side

98.

.AROM-01
93. AR TF wHaw ST ded qEl A IR g @O, A
o I HET AR :
(a) CeEd A
(b) wEad
(c) "EEHaA

04, farefr e o g & Pt o 35w g 35 R, e
aﬁmmmwaﬁaﬁ_aﬁrm%l
(@) onfHie T
(b) ATORRRT ST
(c) m "

Tt i wrafies wha i 1 oo it af S &t
| fedfiema F g & siq = FREIAEE |

(a) aﬁmﬁmﬁmg&m

95.

| (@ aﬁwmm!ﬁﬁz

96. fﬂa}aﬁw%mﬁ,a@ﬁﬁwﬁ@w%:

(b) e =gt

(c) e =igute

() o=t

STt ST & St e o kv T AT € 2
(a) ﬁ;maqa%araﬁgﬁrmﬁmaﬁm

(b) ﬁmmmmmmml

9%

(@ ﬁssﬁaqﬁmmmﬁ%ﬁwﬁam: j

aﬂaﬁaiﬁrgﬁaﬁm, %Eﬁ‘aﬁ@?ﬁ%ﬁﬁ

T et T ST =R 39

T e s =R |
(a) i, W

o TRt Sew
(b) I, g
(d) =, ard
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99.  Rate of evaporation is inversely proportional to :

(b) wind speed
(c) surface area -
(d) temperature
100. Inaclosed system, there is : j—ﬁ
(a) exchange of mass with the:sirroundings.

(®)

exchange of mass am!ffienergy with the
surroundings. £ 7

g’-{l:-,j

no exchainge of energy of the system.

(©)
(d)

not the mass.

- 101.

Work done is zero in constant

process.
(a) Both pressure and volume
(b) Temperature

(c) Pressure -%4
(d) Volume
102. A unit hydrograph has one unit 6f::

(b) the e base of direct runoff
(c) peak discharge
(d) rainfall duration

103. Which parameter remains constant during a
reversible isothermal process ?

(a) Enthalpy
(b) Entropy r
(c) Rate of heat exchange

104. In India, the tropical cyclonés occur in the months of

October —November

exchange of energy with the surroundings andj-

AROM-01

99, TSRt Y ST TehHETET BT R -

(b) wETfdE |
(c) TS &THA
(d) ‘?ITCITIT?Q?

100. HIAdAH,
(@
(b)
(©)

FSIUM T IREw F ar g |
FH AR St o1 i & oy fafma gar g |
Il T Al
MM El Sfcs INawT & 9Ty Sl o 1o

eIl T

101, Foer e e P R s oy B 8 2
(a) TT9 3 ARG IHT
(b) ST
(c) T

102. T 5T @SR O T A R
(a) ST AR
(b)  STIE STIETE hT THT TR
(c) =W Freawor (yaTE)
(d) =t 37afy

B

103.  ScHHUiRT ot SfsRar & i-ar I R war € 2
(a) et
(b) T
(c) o fafmas
(d) A= St

104, ¥R ¥, IUERSHE T % WA
g
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105. Quality control isa:
(a) Management tool
(b) Marketing tool
(c) Process-oriented approach

106. The probability law that determines the fluctuations | 196, rfirerar fram 1) aq@"ﬁqq F AR T i

of fraction defective is : © Ty e B g
(b) Exponential (b) A
(c) Poisson L © GTGﬁ
(d) Normal @ w
107. ISO is only the certification of : 107, TETE.a. ¥ A 3.

(a) HACCP Certification @) T, S
(b) Environmental Management g

(c) Product Certification

(d) Quality Management System

108. AIDS is caused by

(a) Fungus
(b) DNA Virus
(d) Bacteria -
109. Risk analysis does mot comprise which one of the | ;00 Siftay figemu & F=fofae & @ FHAT TF TeH
following components ? e TR
(a) Risk communication @) Gﬁ'F@'HHE‘IT f
© Risk identification - e
(d) Risk assessment @ SiRam s ;— (&

110. I1S0O-22000isa denyatwe of:: 110. ISO-HOOOﬁv‘Hﬂing?q:T% 9

1.  ISO-14001
II. HACCP I. ISO-14001
: I TEeHE.
. TQM b
Iv. 1S0-%000 II. EreA.
Select the correct answer from the options given| | Iv. 1S0-9000
bl A1 R o Rt & wd s g
m '7 (b = = :
(¢} ooyt . © ¥I
(d) BothIIand III @ 1 B



.l'
111. Results based on incomplete or prejudiced data,
produced by Al tools, are signified as :

(a) Robotics (b) Albias

(c) Al fairness (d) Deep fake

112. What is Machine Learning used in Artificial
Intelligence ?
(@) To control the hardware in robots
To improve human’‘communication with robots
To enable computers to solve problems without
being explicitly programmed
To create databases for storing information

(d

113. The operator that enables the machine to understand
the meaning of words and sentences in human
language is known as :
(a) Interpretation
(b) Resolution

d yntax

5

114. Uncertainty can be represented by :
(a) Fuzzy logic (b) Entropy

(c) Probability (d) Allof the above]

115. Robots consist of threei:fi:é.sic components : power
supply, control (memory) console, and

a Viechanical uni arms

ortware

(¢) Microcomputer
(d) Co-axial cable .

116. is considered a type of Artificial

Intelligence agent.

(a) Goal-based Al agent

(b) Simple Reflex AI agent

(c) Learningagent : -

Which type of maintenance is most effective ?

(a) Shutdown r'naintengﬁc:e
(b) Breakdown maintepéﬂce
(c) _Preventive maintenance |

(d) Corrective maintenance

The full form of IoT is :
(a) Index Organized Table
(b) Inter-Operability Test

) Institute of Technology

d) Internet of Things |

117.

118.

AROM-01

111. Al 3o9 & HTea & QIR S7e a1 el siwsi W

112. SR gfgmar § wefia @t @ 3w feg fag fean
SR 2
(a) Usire o grEam =i FEfa e

(b) Tl & T AT GoR § GUR 3

g AT S U T Jiee HTeT 3 Srear ST ST %
aref T uEe § gE ST E, 39 FETH
TSR |

(a) =&

113,

114. fAfaar=r R ESaT STEEaT g |

(a) St (b) g

115. e ¥ 7 qen 1o B0 § - vt amgfd, feEo
(B heiter, 5
(b) R '
(c) IR
i) . e
116. 1 T TR T HOW FGHT e AT T € |

(a) TEI-ITHRE Al T
(b) e froeisa Al weie
(c) wFTTE

117. e YR &1 T@-taE g9 et & 2
(a) YICSEA @-@E

SRS -t

(c) THome W@-Ere
SRR

118. IoTHI&TR:
(a) TR A ATferH
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119. As per the Factories Act 1948, no child who has
completed his/her
allowed to work in any factory.

(a) Fourteenth year
(b) Tenth year

(c) Eighteenth year
(d) Sixteenth year

120. Which of the following is a type of network

shall be required or

AROM-01

R Ao U T e @ S0 R o
Rty 3 e T T SATETAHAT AT ST T & et |
(a) Hieeat a9

(b) TEETE

© eaamafaig :

)] ﬁazmaﬁf

=
120. ﬁmﬂﬁﬁﬁmmaﬁﬁﬁsﬁm@m%?

topology ?

(a) Circular (a) T (G
(b) Square (b) = ()
(c) Linear () e (Hf)

121. Which technique helps estimate duration and
dependencies of tasks in a project ?

(a) Brainstorming
(c¢) Checklist method
(d) SWOT analysis

122. The Lesson Learned meeting is usually conducted at
which phase of the project ?

(a) During budget planning
(b) During risk management planning

(¢) During the execution phase

(d) project completion

123. 66-6% risk is considered as :

121, S T ; o § S 6 sEfn iR
e 1 AR TN & Hee HT1 8 ?

@ s Gy

(o rert )

! “3., ElE
(©) Sofere Rt
(d) SWOT far=gwor '

122, @ TCET o AR O aRESHT & R o
ST T ST S ?

(a) o AT A 36 SN
LM

123. 66-6% SREH AFT TS :

(a) Moderate
o o
(c) Verylow (b) ==
(d) Low () =Ea=d
(@ ==

119, el (sFramm) e 1948 % @, frelt oft st
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124,

12s.

A is a physical representation of the

quantity under measurement whose true value is
known with great accuracy. :

(@) LeastCount

(b) Unit

InﬂleSIsystemofmeasmemer@the is

'deﬁned as the basic unit of ieﬁ'rem, which is

126. -

(@ Volt(V)
(©) Watt (W)

The units whose sizes cammot be chosen

mdependenﬂy are called :

(a) Absolute Units

: A damental Units

127.

128.

129,

130.

'@, ; Gross 5 errors |

®

L5y

What is the coupling field used betfigen the electrical
and mechanical systems in

' conversion

Magnetic ﬁeldonly ey
(c) Electric field only
(d) None of the above

When work is done on a body by an external force,

remains same.
(c) Kinetic energy increases. Es
(d) Potential energy increases. h
i)

Which of the following staticrcharacteristic of
instruments is undesirable ? ;-
(a) Sensitivity () D
(¢) Accuracy

Pz

"@ - Beproducibility

The errors committed by.a person in measurements
are :

(2) Instrumental errors
(b) Environmental errors -

ST

(@ Random erm

-AROM-01

UG % T AET B G HifE
st § Rree srefes qea o wdear & @
ST |

(a) JATHIS® (Fqglatrm)

124,

qwaﬁ‘rqsraﬁ TR H, R () B
lﬁrﬁ@%wﬁw&aﬁaﬁﬁmw% o v i

125.

R st & wﬁwaar s T ST G,

126.
: IR HETIEIE :

E"

Sl FTROT ST 7 T xhwﬁﬁmi%ﬂﬁé;aﬁa
wi’mﬁmrwﬁmw ﬁﬂ?ﬂ?%?

127.

@ st

128. m%ﬁﬁgm-ﬁmmaﬁmmﬁww%ﬁ

T T e e e T
(© nﬁaaﬁﬁwﬁ%l '
@) Refeostagdiis

120. Frafafen & & @t st i St Rk
(a) HeEaRiteTan 7e )
(c) wtemar (d) FEcaEERar

130. wﬁﬁﬁsﬁwﬁﬁmaﬁnﬁjﬁmé




-

131. In which year was 5G telecommunications

technology launched in India ? :
(a) 2023 (b) 2024
(c) 2021 '

Which technology is used in Crypto currency ?
Machine Learning (ML)
3D Printing
Amﬁclal Inte]]lgence (AT)

132.

133.

Carbon monoxide
Nitrous oxide

@

"If the Representative Fraction (RF) is 0-25 and the
actual length of the object is 1-50 m, the Iength of the
drawing will be H

(2 375cm
(c) 375cm

134.

135. The Nobel Prize in Chem:su'y 2023 has been

awarded to :

(a) Victor Ambros
(b) Narges Mohammadi B
=]

(c) P1e1:re Agosum ;

Cellulose is a polymer made from :
I.  Glucose

. Glycogen

1.
Iv.

Select the correct answer from the options given
below : '

136.

Fructose

Sucrose

(a) OnlyIl
(b) Both Il and IV
(c) Both I and 1|

AROM-01
131, RS 5G e selehr fore o o g Ry g oft 2
@ 2023 (b) 2024 |
© 2021 (@ 2022

12, Tt e R e ST 2

(©) mﬁ?:hm .
@ TEEsERE
R e BT (RF) 0:25 & oy o8t e e

134,
1-50%%@1%,—.@(@@ |
@ 375 (b) 0375 cm
(c) 375 e
?-?! =
125 Wﬁa@gozsmﬁawﬁﬁmw,
() FeyEw ,
(o) T A

R g it & v S g
(2) e IO
(b) I T IV aFT
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137. The deliberate manipulation of data, result or images
to support a particular hypothesis or claim is called :

(a) Salami Slicing
(b) Copyright
"(d) Fabrication
138. Inaeuecmalpmpeﬂymgh@mks) protect the use of
information and ideas that @¥e by :
I Social value ﬂ-
I. Ethicalvalue ¢
IL Moral value u
Select the: correct answer ﬁ-om the options given
" below :
. (@ Tonly (b) HandIV
& imsi 1o -l

What is the term of copynght for an author of a
o bOOk? e P ETTR e

139,

(©) Life of the author plu%l) years
(@) 99 years LN

140, Which is mot the content of Provisional Spemﬁcatlon
ofa Patent ?

(d) Title of the mvenuonﬂ?
o

India Metcorological Depirtm

ent recognizes a year
as a “Drought Year” whencamnual rainfall is deficient
by ofnormal or mﬁie

(a) 15 percent T

(c) 3 percent

141.

142, What is the core value that emphasizes the

importance of developing and maintaining

competence in professional practice ?
(b) Neghgence

@
()

Mediocrity
Ignorance_

AROM-01 -

137. ﬁv@rﬁﬁt&mﬁmmmﬁwmﬁmﬁ%ﬁq
Jirel, aRomel a1 BETREET A THEEER 3U-hd
(BA-FIE) T I HET IS :

) aam‘tﬁrlsﬁiﬂ

T, S E
L e

n JEET

. R g

VAR (e

O T ERGETE

@ ¥WEI - (b)) DIV
(© Lmswkv [

S %ﬁ@mmﬁﬁmﬁw%? |

_ :;‘-: = |
(c) T T S + 20 T8 _
(@ . 99

TR ?

e v Rt T S e e % w9

141.

TRRT ST Y S ANS I EE S A
ST B 2 |
(@) 15 iR
(c) 39fmm

142, % T TR T S e S § gt Renia
T I I T TE & TS WS Sar g ?
(a) TI=rET (b) wUETE

138, ﬁmwm(wks)wmaﬁxﬁmﬁﬁm {

140, PrefRen § & s e & oot SRfRRE
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S
143. The ratio of Young’s Modu]us of lugh tensile steel to
that of mild steel is about ; :
@ 13 ® 20

) 05

144, Lackoftoughness mamaterialimplia;s:
(®) plasticity
(d) softening

=0 ductlity

The correct sequence of creep deformation in a creep
curve in order of their elongation is :

Transient, Accelerated, Steady state
Accelerated, Steady state, Transient

Steady staie Tranment, Accelemted _

145.

(@)
(b)

146. If the volume of a gas is reduced to half from its
_ ongmal vohlme the spec:ﬁc heat will :

4 mcreas, e four times
(¢) bereduced to half

(d) be doubled

147. A cycle tyre bursts suddenly. What type of process is
this ?
(a) Isochoric

Isobanc -

(c) | Isothermal

(c) Boiler
(d) Universe

1149 Cast 1mn has carbon content of

(@ 2-%% ® 7-8%

(c) ‘ ~0-6% @ 065-15%

150. Polyvinyl Chloride (PVC)isa:
(a) Elastoplastic material
(b) Rigid plastic material

T Thermoplashc ten

s Ees

AROM-01

143, %9 T I TG o I A 3R 95 v & o
i ST ST TSI & -

(@ 15

mwﬁﬁﬁ%ﬁmﬁmmma@
Tui e

(a) o, vl SRl e

(b) &, TRl T, it

.(c)

145.

146.

147. T WElnd o1 TRR ST e ST § | 98 Reg I

Hrufrare 2

(@) AR (b)' TR

gl
® 7-8%
(d) 065-15%

EIRIEEIECCSITES (draE) 2

150.




DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.

Question Booklet Bar Code Serial No. 2024
TR AN RS HAEST | CODE  : AROM-01

SUBJECT : GENERAL KNOWLEDGE/

Nt AL 1 GENERAL HINDY/
5015905 ENGINEERING APTITUDE
- Part -1 : General Knowledge : Q. Nos.1 to25
Part-II : General Hindi : Q. Nos. 26 to 50
. Part-1II : Engineering Aptitude : @. Nos. 51 to 150
Time : 2 Hours ' Max. Marks : 300.

- Write your Roll Number In numbers

" in the box _ —_—p o : :

In words ; S —1 |

To mark Answer use Black Ball-point Pen only.

Candidate must read all the instructions carefully | Signature of
before writing the answers on the Answer-Sheet. Invigilator

| | You are to mark all your answers on the Answer-Sheet only. After the examination is over, hand over
the Answer-Sheet to the Invigilator and receive Candidate’s copy‘(Blut_a) from the invigilator.

4 1. Answer all questions. A]lqueshonscan’yequalmarks OMRAnswer-SheetandQueatmnBookletwhlchcarry
; same Bar Code Serial Number, are kept together inside a sealed transparent polythene packet.
4 2. Immediately after opening the transparent sealed polytheme packet, agam check that the Pmted
Bar Code Serial Number of Question Booklet and OMR Answer-Sheet is same and all the pages are ;.
Fr printed properly. If the Printed Bar Code Serial Number of Question Booklet and OMR Answer Sheet [
i is not same or there is any other discrepancy in it, return it to the invigilator aumd get another sealed [
4 = polythene packet of Question Booklet and OMR Answer Sheet. b
] 3. Omnly after enamrmg that the printed Bar Code Serial Number of the Queshon Booklet and OMR ||
K Answer-Sheet is same, candidate has to indicate the correct Roll Number, Subject and Subject Code on the |
E OMR Answer-Sheet at the specified place otherwise the Answer Sheet will not be evaluated and the candidate will [}
i be solely responsible for it. i
4. Do not write anything on the cover page of the Question Booklet except Roll Number. Use the space for rough [
i work given in the last two pages of the Question Booklet.
| 5. This Question Booklet contains 150 questions. Each question has four (4) options which are given below the
& questions. Only one option is correct out of the four. You are required to darken the circle corresponding to the [
alternative which you consider to be the correct or most appropriate answer in the Answer-Sheet by Black [
- Ball-point Pen. i
8. In this Question Booklet, all questions of Part — I and Part — IIT are printed in both Enghsh and Hindi languages. [
In case of any amblgmty in the guestion, the English version of the question shall prevail. -

7. Pemnalty for wrong answers 3

WWMPMWNRWNGMMSMMMACMEAENMMSM i
() There are four alternatives for the answer to every question. For each questmn for which a wrong answer |
has been given by the candidate, @ne-thmrd of the marks assigned to that question will be deducted as |

1
[

SRS VIV Ty R L TG
T P TSI

SR

3 e

(i) E a candidate gives more than one answer, it will be treated as a wmmﬁiaanswer even if one of the given
i answers happens to be correct and there will be same penalty as above to that guestion. ;

(iii) If a question is left blank, ie., no answer is given by the candidate, there will be mo penalty for that g
guestion. E

Note : gﬂemse chgﬁ kié%m# the Bar Code Sa?'mﬁ Number pwmged i;:m ﬂ;:t OMR m Sheefmmmigk;
uestion t is swime, in case of any discrepancy in chang another set o
sealed polythene packet a}'om Answer Sheet and Question ﬁo@k

T m@ﬁwﬁﬁwwmxﬁw#mﬁwwh

N e T e PO s g e e o e ey s B e e T B e ,r:.-—-—-m-v—- o




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22

